EHRBRODHIBEFICLIRERBO—ER

(FEEZE BRAR—VEZE) [2024FEELUBEXNR]

] m g EBERBROHLKA
HERS BEHEOEH o FISFHEEHE i
FR FH e IBIRME! BIR | F2EAE | FREM
FRY—hERYTUOARF—N—RFL) | BEE 1 LD 2
FL—F—if EE 1 EOE] 2
BEREEEH £ 1 IR 2
5 |AERE EE 1 EOE] 2 2
®  |a—Foo8% #E 2 B 2
v |ammzs wn | 2 | wm 2
4 FAR)—bFX)7 LRR—YALVTSATUR)| EE 2 ®H 2
B |pzy—r vy 7I@RAE—IIRITROAN | EE 3 GIEd) 2
ZAR—YEH EE 3 IR 2
FRA)=bFr)TNATAT IR AUE) EE 4 %EA 2
(MEH1ORIR) 10 — — 8 0 12 2 0
;*; ARV AR RE 1 I 2
#® EENRR DT AR T E £ 1 UL 2 2
B RR—YF =29 ATV ZAAM wE 1 ®H 2
B FL—=2 o R 1 (5 e 1 ®13 2
EBROMEH AT EE 1 3] 2 2
7 |Eme @ | 1 | wm 2
o |EER EE 1 3] 2
B \mamEk Y 2 B 2
Iaz RR—YE wE 2 e 2
ZAR—YILEE EE 2 AR 2
AR—y £ EE 2 EOE] 2
F—=2 5RO GER) EE 2 BIA 2
AR—=YNAFAN=ZH R EE 2 E3:] 2
(MEH3EIR) 13 — — 6 0 20 4 0
S5 (238 8) 23 — — 14 0 32 6 0
Ty RRTAT S LG #EE 2 o] 2
St mmaxr—v 2| s | wm 2
USSR 2 — — 0 0 4 0 0
F—=U T EE 1 (H£5) BE 1 i 2
BRAR—YTFITAIREBA (L—RAHH)| EE 2 EOE] 2
FALTAv I ——BIERE 1 =E 2 o] 1
ZAR—YIMG - EE DR I EE 2 EOE] 2
FNo—= 4 BB (HH) b 2 GUEd) 2
BEAR—YTFUT1IREEB (F—LHD) | EE 2 3] 2
FREAR—YRBZEEARRERE) EE 2 ®H 2
BRAK—YLELEEAGERENLERS) | BT 2 #H 2
; g |PHERSTvA=VYI £ 2 ®H 2
# * r—=JBEL (KR BT 3 BT 2
B B |BERAR—YTFITAOREEC L—RT5Y)| BE 3 AR 2
'EE BRAR—YXBZEEB @R NML) EE 3 EOE] 2
g BHAK—VLELRES LA —=)| BB 3 B 2
BRAR—Y (A AN ZREA BHEHD| ED 3 GIEd) 2
AROBFRBREEN(ER) EHE 3 IR 2
BREAR—YTHIT(OREED F—LT5Y)| EE 3 3] 2
BHAR—YNAAA AN I REEB RF LS| BEE 3 ®H 2
HEARERRET T (5H) RE 3 #H 2
BEEHLAR—YER EE 3 ®H 2 2
F—= e HEE =E 3 B 1
FL—=2 % BBV (FM) BE 4 B 2
EREED 21 — — 0 0 40 2 0




EHBREBROHIBMBEFICLIBZERBO—ER
(FEEZE BRAR—VEZE) [2024FEELUBEXNR]

) o e SEEROHLUA
HERS BEHEOLH o st S w =
FR FH B DR BR[| FEHAE | FHEM
Kk e 1 EOE] 1 X1
fELE I (EEE) e 1 UL 1 X2
FLERKR—Y e 1 3] 1 X1
#MES) =8 1 ®E 1 %2
PN il I s 2 S Ak, BEAA—Y, S TR
a ’ ’ SIREMS 1R B U ERIRNE
BRAR—YINTA—T U REF I s 1 BE 2
BEAR—Y IO+ —<T U AEE I =8 2 BE 2
FrUoTRE =E 1 BT 1 1
LS =F 2 BITHA 1 X2
NRybiR—)L T (EHE) =5 2 GIE] 1 1 X2
RIE T (EH) =E 2 UL 1 1 %2
RE 1 (EH) x=E 2 EIE] 1 X2
g5 |Pyh— =5 2 ®H 1 1 *2
& |vIrR—L S 2 % 1 1 %2
3 g S5E— e 2 ®H 1 1 X2
i = N2y bR—)L T (5 ) s 2 % 1 %2
B B |BEICER e 2 % 1 %2
b ZEIGEA) e 2 3] 1 %2
Bl nesm e 2 w8 1 X2
INL—HR—IL T (&R S 2 % 1 1 %2
NURR—IL T (EHE) S 2 ®H 1 X2
NIRRT —IVRRR—YEE I EE 2 BE 2 1
NURR—)L T () =% 3 GLES) 1 2
NL—R—IL TGS s 3 AiTEA 1 1 §2 o - 5 y
NAIRTH =TV RARR—YER I BE 3 BE 2 X2 Huh—. YIh L FVRT
BBRK—s O~ RRET =¥ | 3 | mE 2 B e T
HEF—IL 1) "E 3 BE 4 (EH) ST (SR, BB 1 (K5,
/\4/{7?—7*/1171'3—‘355‘?1\! EE 4 BE 2 %)ﬁ 1/1\(&?@ IIiJ; Eg(%ﬁﬁ;’ﬁ)/.(%ii(m
fﬁ"*fj:b bt YYAREN 23 X Ez . 2 ST G5 . NSRRI T (R, N>
= " ’ RAR—LT () h51E B U EER%
EERR S 4 B 4 ©
(/NEH32%LE) 32 — — 8 20 21 7 1
T |msere =7 1 BE 1
=] v
7 VR |V E—UyT =E 3 BE 2
# | 7 vy
B o |UnEteRE) 2 — — 0 0 3 0 0
&5 (12388) 57 — — 8 20 68 9 1
B - fthE R B
TOrHE thRZR B
A5 (201%18) 132 — — 22 20 100
EREEROSIEAFLIERHARGY| 3 [THod THEMN

15

1




